


Chapter 3-1 to 3-4, 3-7 Review
Section 3-1/3-2

1) -11 = x - (-15)

-l = x+ 15
~ 15 - 15

-2 = X
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3) -2 (4-x)-7=5

-§+aAx-7=5
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Ax—-1S =9
+1S +\15

AX = a0
X =10
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Section 3-3

5Yn- 4(1+ 5n) = -2

n-4 - a0n=-L
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Section 3-4
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6) 9 (-5-r)=-10-2r

—45-9 =-1O-ar
+9r + 9
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Section 3-4
Y <N
?]5{3:-: -9)=4(x + 6)

— X - X
‘3=’2>><+aq
- a4 - M
-~ Al =3%



Section 3-4 m
8 (bm-3)=10-6(2 - m)

bwm-3 =10 -1Q +bwv
bm-3= b+~ 2~
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Section 3-7
Solve forr.




Section 3-7

10) Rewrite the equation 3x + 2y - 4 = 2(5 - y)

so that y is a function of x. Then find y when x =

3x+£27—‘{= 10O - 27
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